normalized X2

1072

107

Entries
Mean

0.

D2 4 6 8101214161820

X2

[ normalized x? probability |

0.07F T r
0.06
0.05

o Entries
0.04fF oo+ S bop
0.03

0.02

Ratio

- [Entries

0.90

010203040506070809 1

Prob(x?)

=a== DQMsTEp3_TT_CKF

m—— DOMstep3_TT_default

— DQMstep3_TT_ckfPixelLess

s DQMstep3_TT_default-relf4

e DQMstep3 TT_defaultNEWTOLDSAMPLE-relf4

< x2/ndf >

Ratio

< x2/ ndf >

Ratio

< X2/ ndf >

Ratio

i
T T[T [T [T T I [T TIT T

1072

-1
AR(track, jelts)



	Contents
	Page 1


